Finding the whole - adding more
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I will start with the 5 @ in
the jar and then add 2 more.
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@ a) 2 @ are added to the jar.

How many @ are in the jar now?

There are 5 @ in the jar.

2 more @ are added.
5+2=7

There are 7 @ in the jar now.
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b) 3 more @ are added.

How many @ are in the jar now?




b) 3 more @ are added. m

7+3=10
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There are 10 @ in the @

jar now.

Think together

0 There are 6 @ in the jar.

2 more @ go in the jar.

How many @ are in the jar now?

~

0 1 234567 84|
e e

6
%
6+(J)=]

There are D @ in the jar now.
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e There are 5 @ in the jar. 3 more @ go in.

How many @ are in the jar now? @‘
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There are E] @ in the jar now.
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e Use a number line to work out2 + 7 = D

~

I know that
2+7=7+2.

o

N 4+
w —+
N+
w1+
o+
N
o +
o+
)

Which number should you
count on from? Why?




